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5|7OV)IVEE2 — (UAFIJILTFS/)IFIL 0 B 1,002.0 91.8 %0 1,093.8 1,093.8 121 0% 100%
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N7HoUIEE/IL=IL—TFIL 1,476 41 185.6 B 185.6 1,661.8 104 89% 11%
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o|7oya=ry)L 123 66 0.2 561.2 37 561.4 684.4| 1% 18% 82%
10|7&aL 1> 0 - 2243 1,811.8 27 11,087 13,123.3 13,123.3 46 0% 100%
11{7oeF R )DL 0 - 0.2 - 0.2 02 0% 100%
12|77 ILTER 0 - 1,960.2 999.4 9,957.3 14 67,678 80,595.4 80,595.4 23 0% 100%
13| 7Er=FJJL 2,451 33 1,670.0 21.0 - 1,691.0 41420 67 59% 41%
14| 7ErS T /ER) Y 0 - - - - -
15| 7207 0 - - - - -
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26|3—F73/—1—7ARy 0 B - B - -
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28| 71))L7ILa—)L 0 - - - _ _
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BEHETZILFIADEDRILKRVEBRUZDE(7ILFIL
V| EDREHIA10MD14ETDLDORUZDREWIZ 10 %[ 1239186 16,388.1 209,037.8 E 3493445 349,354.1 8 0% 100%
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32[7 Sty of - - - - -
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3_4\J:/7+I~}9:}[/_3, 5, S_FIJ}?)L:/OD/\'# 112 - 269 0 0
34 A I T I 24 3.6 3.6 6.0 40% 60%
3B[AYTFILTILTER 0 - - - - -
361> 0 B 15,776.4 13 15,776.4 15,776.4 41 0% 100%
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3971 3IRR 0 B - B - -
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41(2)LS=)L 0 B 1,227.0 - 1,227.0 1,2270] "® 0% 100%
DR2—AZFI)OUFF 0 - 210 - 210 210 0% 100%
A3 A3 /9B 0 - - - - -
WA TY)LRVZDIEEY 0 B 0.4 - 04 04 %0 0% 100%
45| TRVFA—IL 0 B - - - -
46| X OkRyIIFIL 0 - 119.0 - 119.0 119.0f 2 0% 100%
47| T RZRR 0 - 1,991.0 - 1,991.0 1,991.0] 1 0% 100%
48|EPN 1,128 4 B 1,128.0 1200 100% 0%
AR TAAR) 0 B 2,964.3 B 2,964.3 2.964.3 81 0% 100%
50(€!)r—k 0 - 1,200.0 - 1,200.0 1,2000( ' 0% 100%
512 —TFIJLATHUEE 14 89 350.9 - 350.9 3649 %0 4% 96%
52|75 =AILT 0 B 120.0 - 120.0 1200[ ' 0% 100%
53| TFILAEY 321,948 5| 247,096.5 85,992.4 27,045.1 10 133,172| 4933060 815,253.6 € 39% 61%
54| RRAF7E—Fk 0 B 559.5 - 559.5 5595| % 0% 100%
55| TFL A3y 0 - - - _ _
56| TFL A TR 23,217 16 5,189.6 - 5,189.6 28,406.9 35 82% 18%
57| TFLH)a—ILE/ITFILI—TIL 1,890 38 3,920.4 445 - 3,964.9 5,855.3 58 32% 68Y%
58| TFL U )a—ILE/AFILIT—TFIL 13 o1 247.0 B 247.0 260.0 170 5% 95%
5| TFLUDTIV 20 86 05 B 05 205 22 98% 2%
60| TFL U7 I MEEER 0 B 5425 150.8 46 693.2 693.2 137 0% 100%
61| D 0 - 225.0 - 225.0 2250 ' 0% 100%
62|w>at¥Jd 0 - 48720 - 48720 48720 62 0% 100%
63|CH 7 TOZK 0 B 3,844.0 - 3,844.0 3,844.0 68 0% 100%
64| Tk TAYIR 0 B 2,098.4 38.2 57 2,136.6 2,136.6 9 0% 100%
65|TEHOQER) Y 020 2 0.2 - 0.2 04 54% 46%
66[1, 2—TRFTAY 0 - - - - -
67|2, 3—IRF¥—1—JO/N/—)L 0 - - - - -
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15| HREDLRUVZFDEEY 49 76 1334 B 1334 1824 186 27% 73%
716|470y —HhTOS594 L 54/ 197 0.9 - 0.9 6.3 %66 86% 14%
1AV D L TH3EK 0 - - B - -
78|12, 4—FL/—)L 50 1% - 50 2" 100% 0%
79|12, 6—FL/—)L 0.0 - - - - -
80[F Ly 530,171 3 3695274 172,376.7 34,9675 9 522,102| 1,098,973.6] 1,629,144.3 2 33% 67%
81|F /) 0 - 274 - 274 274 9 0% 100%
2B RUVFDKAEILED 15 M4 209.3 - 209.3 2108 '™ 1% 99%
837 A 4,680 27 3,147.1 - 2,603 5749.7 10,429.9 48 45% 55%
84|57 )A XY —IL 77| 10 - 771 %[ 100% 0%
855 ILBILTILTER 0 - 267.6 - 267.6 267.6| '8 0% 100%
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87[/0LRUV=MIOLIEE Y 2,074 37 519.2 - 519.2 2,592.7 88 80% 20%
88|/ MEv B LIEEY 535 %0 3.7 - 3.7 5388 99% 1%
89yl rF=y> 0 - - - - -
0|F7rZDY 0 B 216.2 B 216.2 216.2 178 0% 100%
N7 0 - 2,686.0 - 2,686.0 2,686.0 87 0% 100%
92|MILTIVESK 0 B 4920 - 4920 4920 %8 0% 100%
93| AR B—)L 0 - 689.9 - 689.9 689.9| 138 0% 100%
94|18{LE =)L 0 B 16 B 1.6 16| 2° 0% 100%
95| ILTFF L 0 - 522.5 85.5 58 608.0 608.0] 0% 100%
96> /a)rJy—IL 0 B 76.1 0.1 0 76.2 762 24 0% 100%
97(1—4~0oO—2— (YOOAF)L)RUEY 0 - - - - -
98|V O O EF i 0 B 0.0 - 0.0 00| %% 0% 100%
09|/ ONEEETFIL 0 - - - _ _
100|7LF5o0—)L 0 - 3,228.1 - 3,228.1 3,228.1 7 0% 100%
101|758 —)L 0 - 1,853.0 - 1,853.0 1,853.0 ' 0% 100%
102[1 =40 —2, 4—>=rARUEY 0 - - - - -
103|HCFC—142b 0 - 2,496.2 930.9 9,910.0 15 13,337.2 13,337.2 4 0% 100%
104|HCFC—22 2,198 35 29.612.4 76,3142 8,917.7 17 114,8443|  117,042.3 20 2% 98Y%
105|HCFC—124 0 - - - - -
106|HCFC—133 0 - - - - -
107|CFC—13 0 - - - - -
108|Aa7Ov”r 0 - 2,944.0 - 2,944.0 2,944.0 84 0% 100%
109|AJLb—oOnkLTy 0 - - - - -
110[/85—40OOkLTY 0 - - - - -
111|2—oAA—4—=pA7=1> 0 - - — — —
11212—vO00—_rARIEY 0 - - - - -
113[o<oy 26 84 405.5 138.5 47 544.0 569.7] 5% 95%
4|45 I)T7> 0 - 11.6 - 11.6 11.6] 27 0% 100%
115|7x SHEKR 0 - 1,675.8 - 1,675.8 16758 10 0% 100%
116|NFFTFTIHIR 0 - 30.0 - 30.0 300 ¢ 0% 100%
17|77a4+J—IL 0 - 608.2 - 608.2 608.2| 0 0% 100%
118|247 4=)L 0 B 26.6 78 1 344 344 8 0% 100%
19|z Ja+y—IL 0 B - - - -
120|AJ)Lb—HBa0oz/—)L 0 - - - - -
121|/85—40m7z/—IL 0 - - B - -
122|2—soo7of4 28 0 - - - - -
123|181 TF7UIL 0 B - - - -
124|93)L0> 0 - 1,439.4 - 1,439.4 1,439.4| %7 0% 100%
125|708 FY 1,018 45 782.0 2,009.0 - 2,791.0 3,809.2 69 27% 73%
126|CFC—115 0 - - - - -
127|700/RIL L 3,478 29 1,757.7 852.6 3,619.9 22 6,230.2 9,707.9 49 36% 64%
128|181L AFIL 0 - - - - -
129|4—4~0OAQ—3—AF)LTJx/—)L 0 - - - - -
130|MCP 0 - - - - -
131[83—yAR—2—AF)L—1—-7ARY 0 - - - - -
132|aNILERUFDIEED 26.0 83 733.3 0.0 0.1 m 733.4 759.4| 1 3% 97%
133|TFLY Y a— LB/ IFILI—TFILTET—F 15,794 18 3,556.3 - 3,556.3 19,350.1 39 82% 18%
134|BEERE — )L 1,683 40 1,919.2 7615 276.9 42 2,957.6 4,640.5 63 36% 64%
135|TFLF ) a— LB/ AFILI—TFTILFET—F 6] 1% - 6.0 %% 100% 0%
136| H)FILTILTER 0 - - - - -
137|277 F 3K 0 B 59.5 - 59.5 595 % 0% 100%
138|470 Ayk 0 - - - - -
139(rSaAR) Y 0 - 11.2 65.4 55 76.6 76.6] 23 0% 100%
140|270/ R 0 - 71.0 25.1 59 96.1 96.1 206 0% 100%
141[>EXFH =)L 0 - 120.0 - 120.0 1200 1% 0% 100%
142|12, 4—F3/)7=)—)L 0 B - B - -
1434, 4 -7/ )LT—FIL 0 B B B - -
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145]2— (SLFILFS)) TR/ —)L 0.60] 2 32.0 - 32.0 32.6] 20 2% 98%
146|EYIRAAFIL 0 - - = _ —
147|FARANLT 176 58 23230 - 23230 24987 89 7% 93%
148|A7x > AbO—)L 0 - 836.6 - 836.6 8366 ' 0% 100%
149|migb iR = 46 78 04 B 0.4 463 99% 1%
150|1, 4—JHA XYY 3,156 30 264.3 - 264.3 3,420.3 75 92% 8%
151|1, 3= A XIS 777 47 6.0 - 6.0 7830 ¥ 99% 1%
152| A2y T 0 B 2,895.0 - 28950 28950 86 0% 100%
153| T hZ AR 0 B 225 2,046.1 2 2,068.6 2,068.6 97 0% 100%
154|2ANX D LTI 460 51 - 4600 ' 100% 0%
155|N— (L OANF O ILFA) TRILASR 0 - 28.9 - 28.9 289 %8 0% 100%
156|407 =Yy 0 B B B - -
157|1, 2—o4o0OxT4ay 60 73 161.9 - 161.9 2218 7 27% 73%
158|1&LE=)T> 133 85 - 133.1 1971 100% 0%
159| X —1, 22— 00T FLY 261 % - 260.8] % 100% 0%
160|3, 3" —4H/0O0—4, 4’ —OFI/OTIZI)LARY 0 B - - - -
161|CFC—12 0 - 5,007.2 1,064.7 9,722.9 16 5,207 21,001.4 21,001.4 36 0% 100%
162|70EH3K 0 - 7120 - 712.0 7120 ¥ 0% 100%
163|CFC—114 0 - - - - -
164|HCFC—123 0 - 1,098.7 2,508.7 - 3,607.4 3,607.4 72 0% 100%
1652, 4—o/00MLIY 0 ) ) ) - -
166|1, 2—/O0—4——faOREY 0 - - - - -
167|1, 4—>/00—2——tAXUHFY 0 B} B} i} - -
168|4FOA+> 0 B 1,081.2 - 1,081.2 1,081.2 122 0% 100%
169|>HOy 0 - 1,019.0 169.0 4 1,188.0 1,188.0 '8 0% 100%
170|7+S5a+YJ—IL 0 B 7.7 39 62 11.6 11.6] 256 0% 100%
171|7aEa+ry—i 0 B 177.7 - 177.7 177.7| 18 0% 100%
172|AF ST oAtk 0 B 4736 - 473.6 4736| 190 0% 100%
173|E>onvyyy 0 - - - - -
174|Y=—20> 0 B 1,448.1 - 1,448.1 1,448.1 106 0% 100%
175|2, 4—D 0 B 43205 - 43205 43205 66 0% 100%
176|HCFC—141b 0 - 8,822.0 2,295.7 24,438.6 1 35,556.4 35,556.4 30 0% 100%
177|HCFC—21 0 - - - - -
178|1, 2—o4yoa7O/\> 0 - 185.2 - 185.2 1852 18 0% 100%
179|D—D 14 %0 220,103.0 - 220,103.0| 220,116.6 14 0% 100%
1803, 3’ —</OaORLTOTY 0 - - - - -
181|oynaRyEy 11,006 21 4614 693.4| 416,814.6 2 417,969.4| 4289754 7 3% 97%
182|ES5Y ¥ 71y 0 - 131.0 - 131.0 131.0] 18 0% 100%
183|ESY L —k 0 - 7,099.8 - 7,099.8 7,099.8 54 0% 100%
184|>4aR=)L 0 - 7,671.7 - 7,671.7 7,671.7 53 0% 100%
185|HCFC—225 2,622 3 51,418.4 - 51,418.4 54,040.4 27 5% 95%
186|1G{EAFL > 497,858 4 128,322.2 - 128,322.2| 626,179.8 6 80% 20%
187|CF7 /> 0 B 588.0 B 588.0 588.0 142 0% 100%
188|N, N—oooOAFxS )L 73 0 B - B - -
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192|TF47xR A 0 - - B - -
193|TFILFH AR 0 - - - - -
194|7 "800 0 - - = _ _
195|7OF AKX 0 B 250.0 8.0 60 258.0 2580 7 0% 100%
196| AF 5 FHA> 0 B 424.0 - 4240 4240 98 0% 100%
197|=35V> 0 - 7,969.0 - 7,969.0 7,969.0 5 0% 100%
198| AT —F 0 - - - - -
199|CIZJ)LAL R+t +260 0 - - - - -
200{=rak)LTY 0 - - - - -
2012, 4—>=FODJx/—)L 0 - - B - -
202[{CEZ LR EY 0.20 122 B 02| %4 100% 0%
203|C T ILT7I 36 81 125 - 12.5 485 74% 26%
204|271 )LT—TIL 0 - - - - -
205|1, 3—CIJxZ LI TF7=DY 0 - - B - -
206|HILARRIL T 7 0 B 57.6 - 57.6 576 2% 0% 100%
207|2, 6= —3— %) —TFI)IL—4—9LJ—)L 0.10 126 26.5 940 96.8 49 217.3 217.4 177 0% 100%
208|2, 4—V—R3—L %) =T FI)LIJx/—)L 0 B - B - -
209 mES/OOARY 0 - 1,451.2 3443 1,518.1 30 3,313.7 3,313.7 76 0% 100%
2102, 2—>JOE®—2—7/F7RFF7ER 0 - - - - -
211|/AnO>—2402 0 - - B - -
202|720z —h 0 - 6,959.8 3,638.6 21 10,598.4 10,598.4 47 0% 100%
213[N, N=DAF L7 EF7IR 1,767 39 596.7 14.0 - 610.7 2,377.9 92 74% 26%
214|2, 4—JAF L) 0 - - - - -
215|2, 6= AF LT 0 - - - - -
216|N, N—CAF LT =Y 0 B 0.0 - 0.0 00f 3@ 0% 100%
27|FALH5 L 0 - 200.0 - 200.0 2000 '8 0% 100%
28| AF LTI 53 7 9.4 - 9.4 624 8 85% 15%
219|OAF IO RILTAR 0 B - B - -
20| CAF IS FARILNZUBED KBS 0 B - B - -
221|RoI5hILT 0 - 2,052.0 - 2,052.0 2,052.0 9 0% 100%
222z /F AT 0 - - - - -
223|N, N=DAFILRTU LTI 0 B - B - -
224N, N=DAFILRTUIITIV=N—FFIFK 0 - 799.5 2,906.0 47608.4 8 51,313.9 51,313.9 28 0% 100%
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225/~ o0 LRy 0 - 14115 - 14115 14115 10 0% 100%
226|1, 1= AFILERS DY 0 - - - - -
227|/35a—k 0 B 2,405.0 - 2,405.0 2,405.0 o 0% 100%
9pg|8 8 —UAFIETIZIN—4, 4" —DAI=D )Y 0 - - - _ _
71—k
229|FAT7R—EAFIL 0 - 59255 1.0 66 5,926.5 5,926.5 57 0% 100%
930|N— (1, 3:9‘%9‘»7‘?»)—N' —JIZ)L—N\T— 0 B _ B ~ ~
JI=LUIUTIV
231|A =YD 0 B - B - -
232N, N=D AF JLRILLT IR 19,906 17 54,373.4 - 54,373.4 74,278.9 24 27% 73%
233|7x b —k 0 - 1,314.0 - 1,314.0 1,3140 ' 0% 100%
234|R% 63 72 0.3 - 0.3 635 %'  100% 0%
235| RFERD KB IR 0 B 0.0 - 0.0 00| % 0% 100%
236|7AAFL=IL 0 B 1,050.0 - 1,050.0 1,0500| ' 0% 100%
237|KEBRUZFDILEY 57| 1 99.6 - 99.6 105.3| 2% 5% 95%
238|KkFILTILTZ=)L 0 B - - - -
239| B XILEY 800 46 15.6 - 15.6 815.7| 1%° 98% 2%
240| ZFL > 26,858 15 8,860.8 933.8 0.6 67 29,871 39,665.7 66,523.7 25 40% 60%
a1 |[Z S ANWENFY THAVE—1 = AFILIRATILFHID 0 - - - _ _
Lig
22| ELUBRUZEDIEEY 154 b1 6.3 - 6.3 1607 '%° 96% 4%
243 A A X %8 3,741 28 1,376.8 453.8 25 63 47 1,879.9 5,621.3 60 67% 33%
244[(F Ayk 0 B 168,971.5 - 168,971.5| 168,9715 16 0% 100%
245|F A RZ% 0 B 13.5 - 135 135| 20 0% 100%
246|FA T/ —IL 0 B - - - -
247|E5901KR 0 B - B - -
28|58 AT/ 0 B 7,872.0 - 7,872.0 7,872.0 52 0% 100%
249(~o)LEY KRR 0 B 333.0 - 333.0 3330| %2 0% 100%
250| 4V XY FA 0 - 1,599.0 - 1,599.0 1,599.0] 1% 0% 100%
251|2x=rOFA> 0 B 16,343.4 43458 20 20,689.2 20,689.2 37 0% 100%
252( D F A 0 - 202.0 1135 48 3155 3155| 6 0% 100%
253|707 /7RA 0 - - - _ _
254|4TaRKRR 0 B 408.0 - 408.0 4080 ' 0% 100%
255|THITOFEST=ILI—TIL 0 - 0.8 - 0.8 08| ¢ 0% 100%
256| T HB& 0 - 12.2 - 12.2 122 2 0% 100%
257|7Hh/—IL 0 B 0.1 72 0.1 01| 2 0% 100%
258|NFHAFLUTIIID 8.0 9 10.5 124.7 - 135.2 1432| 1% 6% 94%
259|C AL T45 L 0 - 77.7 - 77.7 777 27 0% 100%
260(y0m420=)L 0 - 4,063.5 1,493.3 3t 5,556.8 5,556.8 61 0% 100%
261|754 F 0 - 379.0 - 379.0 3790 %8 0% 100%
262[ 7SO0 FLY 31,562 12 12,251.7 - 12,251.7 43.813.3 29 72% 28%
263|CFC—112 0 - - - - -
264|2, 3, 5, 6—Th,ZUOA—/\S—ARY X/ 0 B - - - -
265|FFSEROAFILEK TR ILEE 0 - - B - -
266|77)LR) 0 B 698.0 - 698.0 698.0[ 136 0% 100%
267|FACHILD 0 - 474.0 - 474.0 4740 0% 100%
268|F V5L 53 75 370 1,948.0 - 1,985.0 2,037.9 9 3% 97%
269[1J4h—)L 0 B - - - -
270| 7L 7R ILEE 0 B 0.0 - 0.0 00| 0% 100%
21| TLI2RILEED AFIL 0 B - B - -
272|8RKB MR (BRI Z RS ) 2,348 34 560.1 36.0 - 596.1 2,944.0 8 80% 20%
273|/ILRIL—KTLIIL7ILa—)L 1,100 44 1.2 133.2 - 134.4 1,2344| ' 89% 11%
274{3—L v ) =R THhUFA—IL 0 - - - - -
275|R T IVEREE R L 0 B 39,934.9 2,099.7 78,710.3 6 120,744.9| 120,744.9 19 0% 100%
276| TR TFLURUAZD 140 63 27.7 - 27.7 167.7] 1% 84% 16%
277|RJTF LTSV 2,496 32 1,172.1 - 1,172.1 3,668.1 71 68% 32%
278|N) TFL LTRSSV 0 B 106.7 - 106.7 106.7] 24 0% 100%
279|1, 1, 1—kyyoOxT 4y 281 53 - 281.4] 5%  100% 0%
280|1, 1, 2—kyyoOxTAy 40 7 - 398 ' 100% 0%
281|r)OOTFLY 159,778 6 36,559.6 - 36,559.6] 196,337.6 15 81% 19%
282|~) /O OEEER 0 B 9.1 - 9.1 91| 20 0% 100%
283[2, 4, 6—k)H0O0O—1, 3, 5—RJT7T 0 B - - - -
284|CFC—113 0 B - B - -
285|4omE4s 0 - 144,394.5 - 144394 5| 1443945 18 0% 100%
286/~ BE L 0 B 26.4 376.6 40 403.0 4030 '° 0% 100%
287|2, 4, 6—K)y0ORJx/—)L 0 B - B - -
288|CFC—11 0 - 11,994.7 1,970.2 20,972.8 12 34,937.6 34,937.6 31 0% 100%
2891, 2, 3—kyyooJos\> 0 B B - - -
290|r)HOAREY 0 - - - - -
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292|MJTFILTEV 0 - - - - -
293[r)TILSYY 0 B 3,440.7 - 3,440.7 3,440.7 74 0% 100%
294|2, 4, 6—K)JBEIT/—)L 0 B - B - -
295|3, 5, 5—FJAF)L—1—~"FH/—)L 0 - - - - -
296(1, 2, 4A—RYAFILARLEY 153,451 7 75,729.0 1,263.4 1,222.1 33 66,300| 1445143 297,965.2 o 51% 49%
297]|1, 38, 5—=RJAFILARE 42,098 " 28,947.8 27,502.5 47045 19 44208| 1053629 147,461.1 17 29% 71%
298| KL DAY T R —b 80 69 10.5 - 105 904 29 88% 12%
209[kILADY 0 B 0.1 - 0.1 01| 2% 0% 100%
300{kLTY 3,513,647 | 594919.6 143,006.5 48,955.8 7 910,683 1,697,564.8] 5,211,212.2 ] 67% 33%
01|[rMLTosTsy 0 B 20.3 - 20.3 203| 0% 100%
302(F245L Y 6,458 24 6,771.3 226.8 6,255.1 18 513 13,766.3 20,224.0 38 32% 68%
303|1, 5—F 3L A=A T rR—hk 0 - - B - -
304(%R 67 71 0.2 - 0.2 675 2'°| 100% 0%
305[8R1L & 161 60 690.8 - 690.8 852.1 128 19% 81%
306| ZT7 V") ILEEANFHAFL 0 - 0.4 - 0.4 04| 288 0% 100%
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307| =15 kEE LD ILa=H A 0 - - - - -
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309|=wHILiL &Y 281 54 5371.2 - 5371.2 5,652.0 59 5% 95%
310| =~ O = BFES 0 B - - _ _
M |F I b—=rETZY—IL 0 B - B - -
12| b—=rETFT=> 0 - - - - -
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31485 —=—ftOvoarRo vy 0 - - - - -
315|4J)Lb—=bOK)LTY 0 - - - - -
36|=kaR 221 0.8 - 0.8 30 ¥4 74% 26%
317|=ka ARy 0 - 0.2 - 0.2 02 ¢ 0% 100%
18| ZfiibiRF 13,479 19 265.3 - 265.3 13,7443 42 98% 2%
319|/)L=)L—/=)LF7)La—)L 0 - - - - -
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334|4—ERFOFXF L LREFBAFIL 0 B - B - -
335|N— (4—EFOFL Tz L) FERTIR 0 B - B - -
336|lErFOX /Y 49 7 408.9 - 408.9 4579 192 11% 89%
337|14—EZ)L—1—vanx Y 0 B B - - -
338l2—E=)LEYSY 0 - - - - -
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41|ERSDY 0.0 - - - - -
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343|hF7a—L 0 - - - - -
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345| 7= )LERSDY 0 B - - - -
346|2—2x=)L7/—)L 0 - - - - -
347IN— 2= )L<L /3K 0 - - - - -
348|Jx=L2 T 0 B 69.3 - 69.3 69.3] 27 0% 100%
3497z /—)L 6,011 25 210.1 - 210.1 6,220.9 56 97% 3%
350| RJLARYY 0 B 502.7 267.8 4 770.5 7705 132 0% 100%
3511, 3—TJ4T Ty 0 - 462.7 2,121.1 25 29,194 31,7779 31,7779 33 0% 100%
352|JRILEEC T IL 0 - - - - -
353|7RILEECIFIL 0 - - - - -
354| DRI EED — JILIL—TFIL 0 B 59.4 8429 B 902.3 902.3 127 0% 100%
355|JRILEEER (2—ZFILAXIL) 5,967 2 852.6 - 852.6 6,819.3 55 87% 13%
356|JRILEE/ILTIL—TFIL=RD)L 12| W 243 - 243 255 %0 5% 95%
357|77mozoy 0 - 166.7 78.3 54 2450 2450 74 0% 100%
358|770 /OK 0 - 20.0 - 20.0 200 0% 100%
359/ ILTIL—TFIL—2, 3—IRFLTAEILI—TI 0 - - - - -
360[R/3)L 0 - 2,245.0 - 2,2450 2,245.0 94 0% 100%
361| /ARy TTFIL 0 - 934.2 - 934.2 9342 126 0% 100%
362|CTFozFHaOY 0 B - B - -
363|AFXHTTI 0 B 288.0 - 288.0 2880 % 0% 100%
364|7xEOF T A—F 0 B 46.2 288 %8 75.0 750 2 0% 100%
365|BHA 0 - - - - -
366|2— v ) —JFIL=RORILAFTIKR 0 - - - - -
367|AIb—thF)—TFIL 7z /—)L 0 - - - - -
3684 —42— %) —TFILT/—)L 0 - 1.3 - 1.3 1.3 2 0% 100%
3697/ Lk 0 B 87.0 - 87.0 870 20 0% 100%
370|E1) ARy 0 - 20.0 B 20.0 200 2% 0% 100%
3711|772z ESK 0 B 20.0 - 20.0 200 0% 100%
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372 glf’;:g*” FTFN) —2=RVIFTI LRI o - 94.4 - 94.4 944 207 o%|  100%
3732 —4— % ) —TFIL—5—AF)LTDx/—)L 0 - - B - -
374|521 KB R UV Z D KB EE 51,788 10 12,554.8 - 12,554.8 64,343.0 26 80% 20%
375|2—TJFFr—IL 0 B - - - -
376|740 —)L 0 - 1,378.0 - 1,378.0 1,378.0] '© 0% 100%
377175 0 - - - - -
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380[/nB>—1211 0 - - = _ _
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382|/\O>—1301 0 - 52.3 227 - 75.0 750 %6 0% 100%
383[7m<wL 0 B 2,9495 - 2,9495 2,9495 83 0% 100%
384[1—JnETO/ 69,908 o 26,410.8 - 26,410.8 96,318.8 21 73% 27%
385|2—JOE7O/\Y 0 B - B - -
386| RILAFIL 0 - - - - -
387|E b DT T HAARX 0 - - - - -
388|TUKRILTFY 0 - - - - -
389 ANFHTUIIRIAFIILTOE=ZYL=HOK 0 - 687.4 529.7 1,784.1 28 3,001.2 3,001.2 7 0% 100%
390|NFHAFL DT 9 o7 - 90| ' 100% 0%
N [AFHAFLL =AY T R—b 17 88 18 - 18 18.8] 28 90% 10%
392| /LTI —~FH 533,157 b 88,382.4 9,110.3 1,430.8 32 178,778| 277,7015| 810,858.3 . 66% 34%
393|R&FTk—JL 0 B 1.9 - 1.9 19| 278 0% 100%
394|RYYS AR UVZFDIEES Y 0 - 1.1 - 1.1 1.1 282 0% 100%
395| R )LAFY ZEREE DK AR 140 63 4.1 - 4.1 1441 195 97% 3%
396|PFOS 0 - - - - -
397|[RoSYTr=ryHOyE of - _ ; _ _
398[1EIERU DL 0 B 0.0 - 0.0 oo 2 0% 100%
399[RU X7 ILTER 0 - 0.0 258.7 - 12,880 13,139.2 13,139.2 45 0% 100%
400( R 10,904 22 6,475.9 7,623.6 1,732.8 29 207,042 222,8747| 233,778.2 13 5% 95%
4011, 2, 4—RUE RV ERT, 2— K 0 - - - - -
402| A0z F vk 0 - 1,263.2 - 1,263.2 12632 13 0% 100%
403[Roy o/ 13 o 0.0 - 0.0 13.0] 22  100% 0%
404|Ro/HoaJz/—)IL 0 B B - - -
405|IF5F1LEY 93,430 8 2,350.7 274.0 51.3 % 2,675.9 96,106.0 2 97% 3%
406|PCB 6.5 '® - 6.5 %%  100% 0%
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W DRFHH12DDI15FETOIDORVZDEESWIZIR 96 68 52,117.0 138,417.7| 609,160.0 t 799.694.6] 799,791.0 2 0% 100%
A.)
408 RY (A FLITFLU)=FHUFILIDz=)LT—TIL 27 82 123.0 2,558.7 456.5 39 3,138.2 3,165.2 8 1% 99%
<1 5 S =K = 2 =
409 ’;'__lf,ﬁjr;i/lazl’/) FFULI=T NIRRT ATV of | 618698 438179 1384173 4 2441050 24471050 7| ou| 100
AO|RY) (X ITFLU)=/Z LTI —TIL 0 - 2,626.0 12,616.2 934.8 34 16,177.1 16,177.1 40 0% 100%
A1|RILLTILTER 12,745 2 58,523.7 52126 2,610.0 24 165261| 231,607.8] 2443524 n 5% 95%
ARV BRUZDIEEY 29,755 13 198.0 - 198.0 29,953.3 34 99% 1%
A13| 8K I RILER 0 B 6.0 B 6.0 6.0| 27 0% 100%
A4|EK<LAUB 70, O 0.0 - 0.0 70| %[ 100% 0%
415| A2 9) JLEE 38 80 1154 B 115.4 153.8 191 25% 75%
416|455 )LEE2 — T FILAED L 12 95 - 123 2% 100% 0%
417|295 )LEE2, 3—THRFTOEIL 0 - - - - -
418[ A5 )LEE2 — (U AFILTS/)ITFI)L 54 7 0.3 - 0.3 57 ¥ 95% 5%
49| AZDYJLEE/ILTIL—TFIL 69 0 B 69.3]  2'8  100% 0%
420( A% 51) )LEE AF L 10,581 23 2,495.0 608.6 0.6 67 3,104.1 13,685.1 43 77% 23%
21| 4—AFYToF xRy —2—F> 0 - - - - -
422\ Lo 0 - 423.0 - 4230 4230 0% 100%
423| AF LTS 152 62 0.0 - 0.0 1520 " 100% 0%
A AFIL=AYFFL T HR—b 0 - 9,000.0 - 9,000.0 9,000.0 50 0% 100%
425|178 HhIT 0 - i - - -
426|hILRDSY 0 B - B - -
427(AI )L 0 B 735.0 683.8 36 1,418.8 14188 108 0% 100%
428|2x /AT 0 - 849.8 287.9 4 1,137.7 11377 ' 0% 100%
429(/\azx)L7AVAFIL 0 - 147.6 - 147.6 1476 198 0% 100%
430|141 Kx5HIL D 0 - 190.0 - 190.0 1900 & 0% 100%
4317V AkOEY 0 B 21450 B 21450 21450 9% 0% 100%
432|735 X 0 B 60.0 - 60.0 60.0| 0% 100%
433|H—/\ L 0 - 4,350.0 - 4.350.0 4.350.0 85 0% 100%
434| A 53U 0 - 208.0 - 208.0 208.0 180 0% 100%
435|EYz /o AF L 0 B 116.6 - 116.6 116.6] 2% 0% 100%
436| 7 ILT7— AFILAFLY 360 52 - 3600 5 100% 0%
437(3—AFIFATO/NF—)L 0 - - - - -
438 AFILFTHL Y 1,352 42 442 306.7 18 65 352.7 1,704.2| 102 79% 21%
439[3—AFJLE)DL 0 - - - - -
440[1 —AF I —1—DJxZ )T FIL=ERFOR)LAF K 0 - 0.3 - 0.3 03[ 2 0% 100%
a41[2—(1—AF)LFOEIL) —4, 6—=+OTT/—)L 0 - - B - -
442\ 7= )L 0 B 63.0 - 63.0 630 2 0% 100%
443[ Az )L 0 B 3,482.0 - 3,482.0 3,482.0 73 0% 100%
444|M)20F A MOEY 0 B 29.2 B 29.2 292 2 0% 100%
445(9 L)% LAFIL 0 - 503.6 - 503.6 503.6] 46 0% 100%
446l4, 4 —AFLLTT=) 0 - - - - -
447 i?b/t1(4, 1=290~AF L) =AY T 1R— ’ 120 7 osl 2l 1004 %
48| AFLUER (4, 1—2x=L) =AY T R—b 6.2 104 85.2 B 85.2 914 208 7% 93%
4497 AT 4T s 0 - - = _ —
450|EYTFhAILT 0 B 372.0 - 372.0 3720 '®° 0% 100%
451|2 —ARFS —5—AF LT =Y 0 - - - - -
452(2 — AW HTRUFFTI—IL 0 - 1473 B 1473 147.3 194 0% 100%
453|EVTTURUVZDILEY 0 - 960.1 - 960.1 960.1| ' 0% 100%
454|2 — (EILIR) I OF AV FFTI—IL 0 - 2.2 - 2.2 22| 76 0% 100%
455|€F )L 18 87 173.1 - 173.1 191.1 183 9% 91%
456[Y AL T ILE =) L 0 - 275.0 - 275.0 2750 %7 0% 100%
457(CHO )RR 0 - 1,790.9 513.6 38 2,304.5 2,304.5 93 0% 100%
458|YABER) R (2—ZF)LAXIL) 0 - - - - -
459V ABER) R (2—H0OB0IF)L) 0 - 0.9 - 0.9 09 8 0% 100%
460|Y AEER Y L 14 15 10.1 - 10.1 115 28 12% 88Y%
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